— <psydex:resp xsizsch

— <psydex:list count="25">
— <psydex:topic>
<id>15</id>
<symbol=MNatural Disaster</symbol>
<description=Matural Disaster</description=
— <pxpression>
flood+water flooding floods, wildfire wildfires tsunari-surf, BEAR THOTTAKE wolcano, asteroid tornado tornadoes storm, storms, disaster area,destruction hurricane hurric
<fexpression>
— <expression_unraveled=
floodtwater flooding loods wildfire, wildfires tsunami-surf (earthquake, earthquale s+{struck, damage, damaded magnitude), {quake, quak esiHmagnitude ratiled rattles, sho
quake,tremors tremor) wolcane, astercid tornado, tornadoes, stormm, storms, disaster area,destruction hurricane hurricanes-game, TEDIS DINWTH flood+Hnsurance flood+s
<fexpression_unraveled>

Location="htp./psydex netiapi api zsd">

<domain>0+/domain>
<model_type>1</model type>
<user_id=0</user_id>
<user name>public</user name>=
<visihility>0</visihility =
— <topic_classes count="1">
<1d>1025</id>
<ftopic_classes>
=/psydex:topic>
— <psydex:topic>
<id>791<Ad>
<symhol~IGE</symbol>
<description=iShares 3&P G351 Matural Resources</description>
<expression~iZhares 3&P G351 MNatural Resources<fexpression>
<expression_unraveled=iZhares 3&F G331 Natural Resources</expression unraveled=
<domain=>0</domain>



<?xml version="1.0" encoding="UTF-8" 7=
- <psydex:response xmins:psydex="http://psydex.net/api" xmins:xsi="http:/ /www.w3.org/2001/XMLSchema-instance" xsi:schemalLocation="http://psydex.net/api
api.xsd">
- <psydex:list count="25">
- «<psydex:phrase>
- =string:
<![CDATA[ sarthguake reported J]=
</string>
<count=279</count>
=/psydex:phrase=
- <psydex:phrase>
- =string=>
<![CDATA[ earthquake likelwy ]]=
«/string>
<count=102</count>
«</psydex:phrase=>
- «<psydex:phrase:
- <string
<![CDATA[ earthguake hits ]]>
</string>
<count>99</count>
</psydex:phrase=
- «<psydex:phrase>
- =string:>
<![CDATA[ sarthguake survivors J]»
«/string>
<count=74</counts
=/psydex:phrase=
- <psydex:phrase=>
- =string=>
<I|[CDATA[ earthguake spain ]]>
</string>
<count>58</count>
<?xml version="1.0" encoding="UTF-8" 7=
- «psydex:response xmins:psydex="http://psydex.net/api" xmins:xsi="http:/ /www.w3.org/2001/XMLSchema-instance" xsi:schemalLocation="http:/ / psydex.net/api
api.xsd">
- <psydex:list count="1747" stat_period_id="1" source_weight_id="1" last_timestamp="1271088655390">
- <psydex:stats>
<identifier=8919</identifier=
<count>79.60</count=
<mean=79.39</mean>
<std_dev>22.18</std_dev>
<z_score=0.01</z_score=
<momentum:>UP</momentum:
«<timestamp>1271088655390</timestamp>
- <ema_list count="3">
<ema period="5">45.51</emax>
<ema period="10">57.61</ema:>
<ema period="20">65.19 </ema:
<fema_list=
</psydex:stats=
- <psydex:stats>
<identifier>8484 </identifier>
<count>328.55</count>
<mean>39.57</mean:
«std_dev>28.26 </std_dev>
<z_score>0.04</z_score>
<momentum =DOWN </momentum =
<timestamp>=1271088655385</timestamp:
- <ema_list count="3">
<ema period="5">7.01</emaz=
<ema period="10">10.31</ema:=
<ema period="20">14.11</ema>
</ema_list>
«</psydex:stats>
- <psydex:statss



— =psydex:response xsi: schemal.ocation="http pevdex netfapt apd zsd">
— =psydex:list count="10">
— =psydex:stock correlation=
<topic_identifier>8565</topic_identifier>
<stock symbol>C5SL</stock symbol>
<correlation_coefficient>0 21</correlation_coefficient~
<fpsydex:stock correlation>
— =psydex:stock correlation>
<topic_identifier>2565</topic_identifier>
<stock symhol=HOT</stock_symhaol>
<correlation_coefficient>0 21</correlation_coefficient>
</psydex:stock correlation>
— <psydex:stock correlation>
<topic_identifier=5565</topic_identifier>
<stock symhbol>30OLE</stock symbol~
<correlation_coefficient>0 %0</correlation_coefficient>
<fpsydex:stock correlation>
— <psydex:stock correlation=
<topic_identifier>2565</topic_identifier>
<stock _symbol>ADM</stock_symbol>
<correlation_coefficient>0 52</correlation_coefficient~
<fpsydex:stock_correlation>
— =psydex:stock correlation>
<topic_identifier>2565</topic_identifier>
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— <psydex:response xsi:schemaLocation="httpfpsydex netfapd apl xsd"=
— <psydex:list count="1">
— <psydex:anchor_topic=
— <identifier=
{stock, stocks market markets) {5} (good, strong, stronger)
<fidentifier>
— <coreferenced_topic_list count="25 0"~
— <coreferenced_topic>
<id=13087</id>
=count=30 0<=/count>
</coreferenced topic>
— <coreferenced_topic>
<id=8806</id>
=count=70 0= count>
<fcoreferenced topic>
— <coreferenced_topic>
<id>28231</id>
<count>4s 0= count>
</coreferenced topic=
— <coreferenced_topic>
<id=8765</id>
<count>3% (0</count>
</coreferenced_topic=
— <coreferenced_topic>



— <psydex:response xsi:schemal.ocation="http iy sydex netfapd apl xsd"=>
— <psydex:list count="1" stat_period id="1" source weight id="1">
— <psydex:stats=
<identifier>12857</identifier>
=count>346 40</count=
<mean=162 59</mean=
<std_dew=150 81</std dewv>
<=z score>1. 22</z score>
=momentum > TP </momentum=
=timestamp= 126766642444 2<ftimestamp >
— <ema_list count="3">
<ema period="2">79 14</ema>
<ema period="10">58 B2</ema>
<ema period="20">108 &7 </fema>
<fema_list=
</psydex:stats>
</psydex:list>
</psydex:response>

— =psydex:resp xsi: sch

— <psydex:list count="2">
— <psydex: content>
=source>Dow Jones</source>

T ocation="http psyden netfapt api.zsd'>

<source_gualifier/>
<content_uwid>defads81-6015-46f8-5143-78c8049%cd08</content_uuid~
<pub_time=1267670195000</pub_time>
<collection_time>1267670195000</collection_time>

— <title>

TPDATE: T3 Set To Clash With Japan Owver Call For Ban On Bluefin Tuna Trade

<title=

</psydex:content>

— <psydex: content>

<source>Bloomberg TV</source>
<source_gualifier/>
=content_uwid>d3973864-d501-4%af-9536-6a94b2 12226 2< /content_uuid>
=pub_time=1267670080000=/pub_time>
<collection_time>1267670030000</collection time>

— <title>

I3 NOT GOING TO CONTRACT VERY QUICELY. WE SHOULD BE CONCERNED ABOUT THE STRUCTURE OF THE BALANCE SHEET, BUT WE AR

<title>

</psydex:content>

<fpsydex:list>
</psydex:response>



— <psydex:response xsi:schemal.ocation="httpfpevdex netfapt apt zsd"=
— =psydex:list count="1">
— <psydex:topic>
<id=>12857</id>
<symhuol>Earthquake=</symhol=
<description=Eatthquake=</description=
— <expression=
eatthqualce earthouakes+Hstruck, damage, damaded, magnitude), (o
</expression>
— <pxpression_unraveled=
earthquakee, earthouakce sHstruck, damage, damaded, magnitude), (g
</expression_unraveled=
<domain>0</domain=>
<model type>1<imodel type>
<user id=0<fuser id>
<user_name>public</user name>
<visibility>0</visibility>
— <topic_classes count="1">
<id>1035</id>
</topic_classes>
</psydex:topic>
</psydex:list>
</psydex:response>=

- epsydex:response xsi:schemaLocation="Htp fpsydes netiupi api xsd™
= <paydex:list count="1">
- <psydex:topi

«symbal>Earthquake </symbol>
description® Esthouake </,

caxpressian®

hquake,carthqualcesHstruck, damage, damaded mageihade) (quake,quake sy H) S ratled rattles, shook,shakesmensured strkes struck, centered).gempa.quake jostles,quake jostled,quake jolted,quake joltsmassive quake fremors fremor
“lexpression=
= <expression_unraveleds
earthquake earthqualoes+(struck, damage, damaded magransde). (qualce, qualce s (magnerude rattle d rattles she ok shakes measured stnkes struck, centered), gempa, quake jostles, quake jostled, quake jolted, qualee jolts mazmve qualce remors tremes
<fexpression_unraveled>
<domain>0</domain>
<model T<fmode]_type>
<fuser_id>
cuger_namespublccucer_names
<visibility>0<fvisibility>
“topic_classes count="1">
<pd>1035<fd>
<ltopic_clagzes>
<ipsydex:topic>
</psydex: list=

“insvdexiresnonses




